Supplemental Practice Questions for Ché

1. A piece of gold of mass 25.0 g at 88.0°C was placed in a calorimeter that
contained 75.0 g of water at 25.00°C. If the temperature of the water rose to
25.70°C, what is the specific heat capacity of gold? The specific heat
capacity of water is 4.184 J-(°C) - g

A)0.10 1.CO)™" ¢!

B)0.351.°C) " g

C)0.14J.CC) " g

D)4.271.(°C)y" g

E)5.21.°0)" g

2. Calculate the reaction enthalpy for the combustion of propane, CsHs(g),
C3H8(g) + SOz(g) — 3C02(g) + 4H,0(1)
from the data

2Hy(g) + Ox(g) — 2H,0(1) AH° = -572 kJ
C(s) + Ox(g) — COx(2) AH® =-394 k]
3C(s) + 4Hy(g) — CsHs(g)  AH°=-106KkJ

A) —106 kJ
B) —1072 kJ
C) —2326 kJ
D) —2220 kJ
E) —2432kJ

3. Calculate the reaction enthalpy for the combustion of 1 mole of ethanol,
C,Hs0H(l), from the data

C(s) + 0x(g) — CO(g) AHC = -393.5kJ
Ha(g) + 1/204(2) — HO(1) AH° =-285.8 kJ
2C(s) + 3Ha(g) +1/20(g) — CHsOH()  AH° =-277.7kJ

A) —1366.7kJ
B) -348.1KJ
C) -704KkJ
D) -16444KkJ
E) -1922.1KkJ



4. If the standard enthalpy of combustion of octane, CsHs(1),1s
—5471 kJ- mol™', calculate the enthalpy change when 1.00 kg of octane are
burned.
A) -2736 kJ
B) —23.9 x 10°kJ
C) -5471KkJ
D) —47.9 x 10°kJ
E) —95.8 x 10°kJ

5. All of the following reactions or processes are endothermic except
A) combustion.
B) vaporization.
C) sublimation.
D) melting.
E) L(s) > Iz(g)

6. The standard enthalpy of formation of H,O,(1) is —187.8 kJ- mol ™'
and of H,O(1) is —285.8 kJ- mol™". Calculate the reaction enthalpy for

H,0(1) + V20,(g) — H,04(1)

A)  -187.8k]
B) —473.6KJ
C) -98.0kJ
D) +187.8kJ
E) +98.0k

7. The reaction enthalpy for
28n0x(s) — 2SnO(s) + Oa(g)

is +589.8 kJ- The standard enthalpy of formation of SnO(s) is —285.8
kJ- mol™". What is the standard enthalpy of formation of SnOx(s)?

A)-1161.4 kJ- mol™
B) —580.7 kJ- mol™
C) =304.0 kJ- mol™
D) +580.7 kJ- mol™
E) —608.0 kJ- mol
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